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Question No.1 (Question Id - 25)

Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason
R.

Assertion A :
The main dimensions of political culture are value orientation, religion, and ethnicity.
Reason R:

In increasingly multicultural societies, the concept of political culture acquires new scope and
relevance.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(A) O Both A and R are correct and R is the correct explanation of A.

(B) O Both A and R are correct, but R is not the correct explanation of A. (Correct Answer)
(C) O Ais correct, but R is not correct.

(D) O Ais not correct, but R is correct.

Question No.2 (Question Id - 72)
Which of the following credentials did Ambedkar disapprove of as undemocratic and unjust in his reply
to debate on the draft Constitution on 24 November, 1949 ?

A. Gandhian Traditionalist village society

B. Communist Dictatorship of the Proletariat

C. Socialist Collectivism

D. Liberal-democratic credentials of the Constitution

Choose the correct answer from the options given below :

(A) O A, B, Conly (Correct Answer)
(B) O B, Conly

(C) O A, Donly

(D) O A, C,Donly

Question No.3 (Question Id - 59)

Match List-1 with List-11.

List-1 List-11
A. House of Lords I. RUSSIA
B. Senate Il. FRANCE
C. Bundesrat (Federal Council) . UK.
D. Federal Council IV. GERMANY

Choose the correct answer from the options given below :

A)O A-1II,B-II, C-IV,D -1 (Correct Answer)
B)O A-I,B-1I,C-1,D-1V
C)O A-1,B-lI,C-1I,D-1IV
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(D)O A-IV,B-1,C-1I,D-Il

Question No.4 (Question Id - 73)
Given below are two statements :

Statement I:

In the Deccan, the Satavahanas ruled for nearly four and a half centuries from about 230 B.C.




Statement II:
The Satavahanas Empire virtually disappeared in the second century A.D.

In the light of the above statements, choose the correct answer from the options given below :

O Both Statement | and Statement Il are true. (Correct Answer)
O Both Statement | and Statement Il are false.

O Statement | is correct, but Statement Il is false.

O Statement |l is incorrect, but Statement Il is true.

Question No.5 (Question Id - 57)

Match List-1 with List-11.

List-1 List-1l
A, Arunachal Pradesh I. M. Biren Singh
B. Manipur Il. Pu. Zoramthanga
C. Mizaram l1Il. Neiphiu Rio
D. Nagaland IV. Pema Khandu

Choose the correct answer from the options given below :

A)O A-IV,B-I,C-IlIl,D-I
(B)O A-IV,B-I,C-IlI,D-Illl (Correct Answer)
(C)O A-1,B-IV,C-Il,D-1I
(D)O A-1,B-IV,C-IIl,D-II

Question No.6 (Question Id - 20)

Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason
R.

Assertion A:

Article 21 of the Indian Constitution lays down that no person shall be deprived of life and personal
liberty, except according to procedure established by law.

Reason R:

The provisions of the Article 21 of the Indian Constitution are negative and defines life as merely the
physical act of breathing.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(A) O Both A and R are correct and R is the correct explanation of A.

(B) O Both A and R are correct, but R is not the correct explanation of A.
(C) O A'is correct, but R is not correct. (Correct Answer)

(D) O A'is not correct, but R is correct.

Question No.7 (Question Id - 18)
Which one among the following is not a book written by Vinayak Damodar Savarkar ?
(A) O The Indian war of Independence, 1857

(B) O Six Glorious Epochs of Indian History
(C) O Hindutva
(D) O Essentials of Hindu Religion (Correct Answer)

Question No.8 (Question Id - 22)
‘Working title’ is important in research proposal preparation, because -

A. Working title is a major road sign in research.

B. Working title provides a tangible idea to keep refocusing on and changing as the project goes on.
C. Working title also helps in conveying to others the central notion of the study.

D. Working title share with the readers the results of other studies.

Choose the most appropriate answer from the options given below :

(A) O A,Donly

(B) O A, B, C only (Correct Answer)
(C)O AB,C,D

(D) O B, C, Donly




Question No.9 (Question Id - 16)
Given below are two statements :

Statement I:

There were two successive monsoon failures in India in 1965 and 1967 which led to catastrophic
decline in food production.

Statement II:
The new Agricultural Policy was adopted under Fourth Five Year Plan in 1969 in India.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(A) O Both Statement | and Statement Il are correct. (Correct Answer)
(B) O Both Statement | and Statement Il are incorrect.

(C) O Statement | is correct but Statement Il is incorrect.

(D) O Statement | is incorrect but Statement Il is correct.

Question No.10 (Question Id - 90)
Given below are two statements :

Statement I:

Ram Manohar Lohia strongly supported every individual’s right to commit suicide.
Statement II:

Ram Manohar Lohia was a thorough pessimist.

In the light of the above statements, choose the correct answer from the options given below :

O Both Statement | and Statement Il are true.

O Both Statement | and Statement Il are false.

O Statement | is correct, but Statement Il is false. (Correct Answer)
O Statement | is incorrect, but Statement Il is true.

Question No.11 (Question Id - 84)
Given below are two statements :

Statement I:
Offensive realism is a structural theory of realism that views States as security maximizers.
Statement II:

Neoclassical realism is a version of realism that combines both structural factors such as distribution of
power and unit level factors such as the interests of States.

In the light of the above statements, choose the correct answer from the options given below :

(A) O Both Statement | and Statement Il are true. (Correct Answer)
(B) O Both Statement | and Statement Il are false.

(C) O Statement | is correct, but Statement Il is false.

(D) O Statement | is incorrect, but Statement Il is true.

Question No.12 (Question Id - 17)
Which Article of Indian Constitution declares ‘Abolition of Untouchability’ ?
(A) O Article 21

(B) O Article 19
(C) O Article 14
(D) O Article 17 (Correct Answer)

Question No.13 (Question Id - 1)
The problem of tragedy of commons occurs when a resource is open to all, without limit. Which among
the following is not an example of tragedy of commons ?

A) O An overgrazed meadow
B) O Gilobal climate change
C) O Fishing in oceans
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(D) O Untouchability (Correct Answer)

Question No.14 (Question Id - 77)
Given below are two statements :




Statement I:

Political Parties are the central actors in democratic politics, as well as in many authoritarian and
totalitarian regimes.

Statement II:

It is unlikely that social movements or the governance networks will replace many roles performed by
the parties.

In the light of the above statements, choose the most appropriate answer from the options given
below :

O Both Statement | and Statement Il are correct. (Correct Answer)
O Both Statement | and Statement Il are incorrect.

O Statement | is correct, but Statement Il is incorrect.

O Statement | is incorrect, but Statement Il is correct.

Question No.15 (Question Id - 9)
With regard to the ‘Concept of Rights’, which of the following statements are most appropriate ?

A. Rights are the benefits which flow automatically from the existence of the state.

B. Rights are those which safeguard the individual from irresponsible and arbitrary use of power by
the ruling class.

C. Rights are claims of individual and groups on and against the state.
D. Rights mean individual cannot have rights against the state.

Choose the correct answer from the options given below :

(A)

(B) O B, C only (Correct Answer)
(C) O C,Donly

(D) O A, Conly

Question No.16 (Question Id - 98)
What are the goals of Comparative Politics ?
(A) O To describe differences and similarities between political systems and their features

(B) O To explain these differences
(C) O To predict which factors may cause similar or different effects
(D) O All of the above (Correct Answer)

Question No.17 (Question Id - 76)
Given below are two statements :

Statement I:

In Direct Democracy public participates indirectly in governance and Policy Making.

Statement Il:

In Indirect Democracy public participates in decision making through its elected representatives.

In the light of the above statements, choose the correct answer from the options given below :

(A) O Both Statement | and Statement Il are true.

(B) O Both Statement | and Statement Il are false.

(C) O Statement | is correct, but Statement Il is false.

(D) O Statement | is incorrect, but Statement Il is true. (Correct Answer)

Question No.18 (Question Id - 93)
Given below are two statements :

Statement I:
The response rate of a social survey adds a political dimension to the research process.
Statement Il:

The researcher’s values, beliefs and prior assumptions add a political dimension to the research
process.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(A) O Both Statement | and Statement Il are correct.




(B) O Both Statement | and Statement Il are incorrect.
(C) O Statement | is correct, but Statement Il is incorrect.
(D) O Statement | is incorrect, but Statement Il is correct. (Correct Answer)

Question No.19 (Question Id - 67)
Choose the correct order of the following from the options given below :

A. International Covenant on Civil and Political Rights (ICCPR)
Universal Declaration of Human Rights (UDHR)
Convention on the Rights of Child ( CRC)

Convention on Elimination of all form of Discrimination Against Women (CEDAW)

m o o

Convention on the Rights of Persons with Disabilities (CRPD)

A)O A B,C,E,D
B)O A,B,C,D,E
C)O B,E,C,D,A
)
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(D) O B, A,D,C,E (Correct Answer)

Question No.20 (Question Id - 7)
Hegel viewed civil society as a sphere of -
(A) O Universal Altruism

(B) O Particular Altruism
(C) O Universal Egoism (Correct Answer)
(D) O Political community

Question No.21 (Question Id - 83)
Given below are two statements :

Statement I:

A ‘grand theory’ is an intermediate level explanation of observed regularities.

Statement II:

A ‘grand theory’ is a particularly satisfactory theory that makes the researcher feel happy.

In the light of the above statements, choose the correct answer from the options given below :

(A) O Both Statement | and Statement Il are true.

(B) O Both Statement | and Statement Il are false. (Correct Answer)
(C) O Statement | is correct, but Statement Il is false.

(D) O Statement | is incorrect, but Statement Il is true.

Question No.22 (Question Id - 21)

According to the Indian Constitution, Formation of rules related to matters of Citizenship falls under the
jurisdiction of :

(A) O Parliamentary and State Assembly
(B) O Parliament (Correct Answer)

(C) O State Assembly

(D) O Supreme Court

Question No.23 (Question Id - 64)

Match List-1 with List-11.

List-1 List-11

A, An executive system that divides power between two strong executives; a President and a L

: N I. Republicanism
Prime Minister
B. A palitical system in which the roles of the head of state and head of government Il. Presidential
are assigned to two separate executive offices System
C. Indirect democracy that emphasizes the separation of power within a state and I1l. Semi-
the representation of the public through elected officials Presidential System
D. A political system in which the role of the head of state and head of the government IV. Parliamentary
are combined in one executive office System

Choose the correct answer from the options given below :

(A)O A-I,B-lIlL,C-1I,D-1V




(B)O A-lILB-IV,C-1,D-Il (Correct Answer)
(C)O A-II,B-1,C-1Iv,D-1l
(D)O A-IV,B-1l,C-IlIl,D-1

Question No.24 (Question Id - 33)
Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason
R.

Assertion A :

Feminism is opposed to the institution of Patriarchy.

ReasonR:

Patriarchy refers to an overarching system of male dominance operating at every level.

In the light of the above statements, choose the correct answer from the options given below :

(A) O Both A and R are true and R is the correct explanation of A. (Correct Answer)
(B) O Both A and R are true, but R is not the correct explanation of A.

(C) O Alis true, but Ris false.
(D) O Ais false, but R is true.

Question No.25 (Question Id - 30)
Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason
R.

Assertion A :

Henri Fayol suggested Gangplank — ‘Level Jumping’ in a hierarchical organisation although he places
emphasis on Formal Organisation.

Reason R:
Fayol is alive to the dangers of conformity to hierarchy and formalism.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(A) O Both A and R are correct and R is the correct explanation of A. (Correct Answer)
(B) O Both A and R are correct, but R is not the correct explanation of A.

(C) O A'is correct, but R is not correct.

(D) O A'is not correct, but R is correct.

Question No.26 (Question Id - 69)
Given below are two statements :

Statement I:

‘What is going on’ is a fundamental question in descriptive research.
Statement II:

‘Why is it going on’ is a fundamental question in explanatory research.

In the light of the above statements, choose the most appropriate answer from the options given
below :

O Both Statement | and Statement Il are correct. (Correct Answer)
O Both Statement | and Statement Il are incorrect.

O Statement | is correct, but Statement Il is incorrect.

O Statement | is incorrect, but Statement Il is correct.

Question No.27 (Question Id - 71)
Given below are two statements :

Statement I:

In British House of Commons the quorum is forty members.

Statement Il:

In the USA’'s House of Representatives the quorum is a simple majority of the membership.

In the light of the above statements, choose the correct answer from the options given below :

(A) O Both Statement | and Statement Il are true. (Correct Answer)
(B) O Both Statement | and Statement Il are false.
O




(C) Statement | is correct, but Statement Il is false.
(D) O Statement | is incorrect, but Statement Il is true.

Question No.28 (Question Id - 82)
Given below are two statements :

Statement I:

Socrates believed that philosophical life is superior to the life of Politicians.

Statement II:
Plato recognizes that Philosophy and Politics cannot be kept apart.

In the light of the above statements, choose the correct answer from the options given below :

(A) O Both Statement | and Statement Il are true. (Correct Answer)
(B) O Both Statement | and Statement Il are false.

(C) O Statement | is correct, but Statement Il is false.

(D) O Statement | is incorrect, but Statement Il is true.

Question No.29 (Question Id - 34)
With regard to Aristotle, which of the following statements are true ?

A. He believed that the study of ethics and politics has the same purpose.

B. He believed that ruling the state is distinctly different from management of the household.
C. He believed that one’s life should be sacrificed to philosophical principles.

D. He believed that slavery and male supremacy are natural.

Choose the correct answer from the options given below :

A) O A, B,Conly
B) O A, B, D only (Correct Answer)
C)O A/B,C,D
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(D) O B, C,Donly

Question No.30 (Question Id - 11)
Scientific Research includes :

A. Verifiable evidence

B. Accuracy

C. Recording

D. Training Investigators
E. Controlling Conditions

Choose the most appropriate answer from the options given below :

(A) O A, B,D, Eonly
(B) O A,B,C,Donly
(C) O C,B,D, Eonly
(D) O A,B,C,D,E (Correct Answer)

Question No.31 (Question Id - 74)
Given below are two statements :

Statement I:
Structural Functionalism emphasized the structural aspect of any social system.
Statement II:

Structural Functionalism concentrated on the process that maintained a social structure, ordered
internal instability, and on the reasons for its survival.

In the light of the above statements, choose the correct answer from the options given below :

(A) O Both Statement | and Statement Il are true.

(B) O Both Statement | and Statement Il are false.

(C) O Statement | is correct, but Statement Il is false. (Correct Answer)
(D) O Statement | is incorrect, but Statement Il is true.




Question No.32 (Question Id - 54)

Match List-1 with List-11.

List-1 List-11

(Author/Thinker/Name of

(Book/Theory proposed/Characteristic, etc.) Theory:etc)

A Goal of a researcher is to test concepts and patterns known from theory :
. . |. Deductive Research
using new empirical data

B. Explanation of observed phenomena, problems or behaviour Il. Inductive Research

C. Goal of a researcher is to infer theoretical concepts and patterns from observed

ll. Descriptive Research
data

D. Making careful observations and detailed documentation of a phenomenon of
e IV. Explanatory Research
interes

Choose the correct answer from the options given below :

(A) O A-II,B-IV,C-I,D-1l
B)O A-,B-lll,C-1I,D-IV
(©)O A-lILB-II,C-I,D-IV
(D)O A-1I,B-IV,C-Il,D-Illl (Correct Answer)

Question No.33 (Question Id - 15)
“Our moon has blood clots : A memoir of a lost home in Kashmir” is a book by -
(A) O Siddharth Gigoo

(B) O Rahul Pandita (Correct Answer)
(C) O Adarsh Ajit
(D) O Ashok Pandit

Question No.34 (Question Id - 70)
According to Hobbes, Social Contract s :
(A) O Constitutional Act

(B) O An Act written down by people in some determinate historical period
(C) O An Act of imagination (Correct Answer)
(D) O Product of law

Question No.35 (Question Id - 48)
Choose the correct order of the following from the options given below :

A. Ban Ki-moon

B. Kurt Waldheim

C. Javier Perez de Cuellar
D. Boutros Boutros Ghali

E. Kofi Annan

(A) O E,C,B,AD
(B) O B,C,D,E, A (Correct Answer)
(C)O C,B,A/D,E
(D) O D,A/B,C,E

Question No.36 (Question Id - 49)
Which among the following is not a characteristic of Positive Liberalism ?
(A) O Positive Liberalism had sought to establish free market society. (Correct Answer)

(B) O Positive Liberalism promoted the idea of welfare state.
(C) O Positive Liberalism pleaded for positive role of the state in securing welfare of its citizens.

(D) O Liberal theory which stood for negative liberalism in its early phase, was transformed into
positive liberalism in its later phase.

Question No.37 (Question Id - 87)
Given below are two statements :

Statement I:

In the ‘Observation’ phase of research, we observe a natural or social phenomenon, event, or
behaviour that interests us.




Statement II:

In the ‘Observation’ phase of research, we test our theories using a scientific method through a
process of data collection.

In the light of the above statements, choose the correct answer from the options given below :

(A) O Both Statement | and Statement Il are true.

(B) O Both Statement | and Statement Il are false.

(C) O Statement | is correct, but Statement Il is false. (Correct Answer)
(D) O Statement | is incorrect, but Statement Il is true.

Question No.38 (Question Id - 79)
Given below are two statements :

Statement I:

The study of the interaction between states and market is Political Economy.
Statement II:

The role of the State in Liberal Political Economic system is maximum.

In the light of the above statements, choose the correct answer from the options given below :

O Both Statement | and Statement Il are true.

O Both Statement | and Statement Il are false.

O Statement | is correct, but Statement Il is false. (Correct Answer)
O Statement | is incorrect, but Statement Il is true

Question No.39 (Question Id - 29)
Which of the following is not correctly matched ?

(A) O Dual Federalism - Layer cake Federalism

(B) O Cooperative Federalism - Marble cake Federalism

(C) O Creative Federalism - Picket fence Federalism

(D) O Asymmetrical Federalism - Marble Federalism (Correct Answer)

Question No.40 (Question Id - 62)

Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason
R.

Assertion A :

The five permanent members of the Security Council of the United Nations have Veto power over all
Security Council decisions.

Reason R :

The five permanent members were seen as major powers. |If the great powers were not given
privileged positions, the UN would not work.

In the light of the above statements, choose the correct answer from the options given below :

A
B
C
D

O Both A and R are true and R is the correct explanation of A. (Correct Answer)
O Both A and R are true, but R is not the correct explanation of A.
O A'is true, but R is false

(
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(D) O A'is false, but Ris true

Question No.41 (Question Id - 61)

Match List-1 with List-II.

List-1 List-11
A. The Second Treatise of Government l. Machiavelli
B. Essay on Government Il. John Locke
C. The Discourses I1I. James Mill
D. Second Discourse on the Origin and Foundation of inequality among men  |IV. Rousseau

Choose the correct answer from the options given below :

(A O A-Iv,B-lllL,C-I,D-1
(B)O A-IL,B-IIl,C-1,D -1V (Correct Answer)
(C)O A-II,B-II,C-1V,D-I
(D)O A-I,B-Il,C-1lll,D-IV




Question No.42 (Question Id - 45)
Which of the following is not a observed behaviour ?
(A) O Intelligence

(B) O Honesty
(C) O Achievement
(D) O Aspiration (Correct Answer)

Question No.43 (Question Id - 36)
Which are the correct statements about role of interest groups ?

A. Interest groups play an important role in linking state and society. They are more than pressure
groups.

B. Interest groups play a role as ‘social partners’ in government.
C. Interest group’s role as social partner remains important in neo-corporatist countries.
D. Interest groups as social partners represent a form of pluralism.

Choose the most appropriate answer from the options given below :

(A) O A, B,Conly

(B) O A, B, C, D (Correct Answer)
(C)O A,C,Donly

(D) O C,Donly

Question No.44 (Question Id - 27)

Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason
R.

Assertion A :

Political ‘contract’ does not require unanimous consent.

Reason R:

Locke does not consider the political contract to be all, but rather a fiduciary agreement.

In the light of the above statements, choose the correct answer from the options given below :

A) O Both A and R are true and R is the correct explanation of A. (Correct Answer)
B) O Both A and R are true, but R is not the correct explanation of A.
C) O Aistrue, but Ris false.
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(D) O Ais false, but R is true.

Question No.45 (Question Id - 3)
The correct statements about Content Analysis are -

Content Analysis is a method in Social Science Research
Content Analysis may be manifest or latent
Content Analysis involves the same steps as in other methods of Research

Content Analysis is an example of case study

m o o w »

Content Analysis is useful in Nano-medicine field

Choose the correct answer from the options given below :

(A) O A /D, Conly
(B) O A, B, C only (Correct Answer)
(C)O C,D,Eonly
(D) O A, B,Donly

Question No.46 (Question Id - 52)




Match List-1 with List-II :

List-1 List-Il
A, Association of South-East Asian Nations (ASEAN) l. 2002
B. Shanghai Cooperation Organization {SCO) Il. 1975
C. North American Free Trade Agreement (NAFTA) . 1967
D. Economic Community of West African States (ECoWAS) |IV. 1994

Choose the correct answer from the options given below :

A)O A-I,B-I,C-llI,D-IV
B)O A-I,B-IV,C-I,D-1l
C)O A-lI,B-I,C-IV,D-Ill (Correct Answer)
)
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(D)O A-IV,B-1Il,C-1I,D-I

Question No.47 (Question Id - 43)
The correct statements about interview method of data collection are the following -

A. This is useful when participants cannot be observed directly.

B. The participants can provide historical information.

C. This allows researcher ‘control’ over the line of questioning.

D. This is useful in exploring topics that may be uncomfortable for participants to discuss.
E. It saves a researcher the time and expense of transcribing.

Choose the correct answer from the options given below :

(A) O A,D,Eonly
(B) O A, B, C only (Correct Answer)
(C) O B, D, Eonly
(D) O B, C, Eonly

Question No.48 (Question Id - 91)
Given below are two statements :

Statement I:

In the Judgment of Vishakha v. State of Rajasthan, Supreme Court of India upheld that ‘sexual
harassment at the workplace’ is a violation of articles 15 and 21 of the Constitution.

Statement Il:

Supreme Court of India instructed for enactment of suitable legislation to prevent sexual harassment at
workplaces.

In the light of the above statements, choose the correct answer from the options given below :

(A) O Both Statement | and Statement Il are true. (Correct Answer)
(B) O Both Statement | and Statement Il are false.

(C) O Statement | is correct, but Statement Il is false.

(D) O Statement | is incorrect, but Statement Il is true.

Question No.49 (Question Id - 66)
Choose the correct order of the following from the options given below :

A. Chernobyl Nuclear Disaster
Bhopal Chemical Plant Disaster
. Establishment of United Nations Environment Programme

. Formation of Greenpeace

m o 0 o

Formation of WTO

A)O D,C,A B E
B) O D,C, B, A, E (Correct Answer)
C)O EB,C,AD
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(D)O D,B,C,AE

Question No.50 (Question Id - 51)
Given below are two statements :

Statement I:




The Lok Sabha’s ultimate control over the executive lies in the motion of no-confidence that can bring
down the government in India.

Statement II:

During the phase of coalition politics and unstable majorities, the Parliament of India fails to hold the
government responsible and the Lok Sabha merely becomes a “talking shop”.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(A) O Both Statement | and Statement Il are correct

(B) O Both Statement | and Statement Il are incorrect

(C) O Statement | is correct, but Statement Il is incorrect (Correct Answer)
(D) O Statement | is incorrect, but Statement Il is correct

Question No.51 (Question Id - 32)
Given below is two statements : one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A :
Sharing of research results allows other researchers to extend the study’s findings.
ReasonR:

When researchers share results, they add an incremental amount of knowledge to what is already
known about the subject.

In the light of the above statements, choose the correct answer from the options given below :

Question No.52 (Question Id - 58)

Match List-1 with List-I.

List-1 List-11
A, Scanlon Plan . F.W. Taylor
B. Functional Foremanship Il. Henri Fayol
C. Scalar Principle HI. Luther Gulick
D. POSDCORE IV. Frederick Lesiaur

Choose the correct answer from the options given below :

(A O A-1I,B-I,C-1lIl,D-IV
B)O A-IV,B-1l,C-I,D-1l
(C)O A-lILB-II,C-IV,D-1
(D)O A-IV,B-1,C-IlI,D-Illl (Correct Answer)

Question No.53 (Question Id - 31)

“Personally, | do not attach any importance to the label which may be attached to it — whether you call
it a Federal Constitution or a Unitary Constitution or by any other name. It makes no difference so long
as the Constitution serves our purpose”. Who made this observation ?

A) O Dr. Rajendra Prasad (Correct Answer)
B) O Dr. B.R. Ambedkar
C) O K.M. Munshi
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(D) O Jawaharlal Nehru

Question No.54 (Question Id - 60)




Match List-1 with List-11.

List-1 List-1I
A. Commentary on The Constitution of India . K.C. Wheare
B. The Indian Constitution : Cornerstone of a Nation Il. Myron Weiner
C. Party Politics in India IIl. Durga Das Basu
D. Modern Constitution IV. Granville Austin

Choose the correct answer from the options given below :

(A O A-I,B-Il,C-lIl,D-IV
B)O A-l,B-IV,C-Il,D-I(Correct Answer)
(C)O A-II,B-IV,C-IlIl,D-1
(D)O A-Iv,B-lllL,C-I,D-1

Question No.55 (Question Id - 99)
The researcher begins the research with the few respondents, who are known and available to him.
Subsequently, these respondents give other names, who meet the criteria of research, who in turn give
names of more new respondents. This process is continued until ‘adequate’ numbers of persons are
interviewed or until no more respondents are discovered. This type of Sampling is called :

(A) O Quota Sampling

(B) O Snowball Sampling (Correct Answer)
(C) O Convenience Sampling

(D) O

Purposive Sampling

Question No.56 (Question Id - 24)

Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason
R.

Assertion A :

Bal Gangadhar Tilak was instrumental in the foundation of the New English School (Ferguson
College). He considered newspaper an important tool to spread nationalist sentiments.

Reason R:
He edited two newspapers — Mahratta (in Marathi Language) and Kesari (in Hindi Language).

In the light of the above statements, choose the correct answer from the options given below :

(A) O Both A and R are true and R is the correct explanation of A.

(B) O Both A and R are true, but R is not the correct explanation of A.
(C) O Aiis true, but R is false. (Correct Answer)

(D) O Ais false, but R is true.

Question No.57 (Question Id - 47)
An Inductive theory is one that -
(A) O Involves testing and explicitly defined hypothesis
(B) O Does not allow for findings to feedback into the stock of knowledge
(C) O Uses qualitative methods whenever possible
(D) O Allows theory to emerge out of the data (Correct Answer)

Question No.58 (Question Id - 39)
What are the various dimensions of Political Culture ?

Gender
Ethnicity
Religion

Environmentalism

mo o w »

Feminism

Choose the correct answer from the options given below :

A) O B, C, Donly
B) O A,B,C, Eonly
C) O D, Eonly

)

(
(
(
(D) O A,B,C,D,E (Correct Answer)

Question No.59 (Question Id - 44)




Which statement is false about postpositivist tradition of knowledge claims ?

(A) O Postpositivist tradition comes from 191" century writers such as Comte, Durkheim, Mill and
others.

(B) O Postpositivism reflects a deterministic philosophy in which causes probably determine effects
or outcomes.

(C) O Postpositivism is also reductionistic, in that the intent is to reduce the ideas into a small,
discrete set of ideas to test.

(D) O Knowledge claims arise out of actions, situations and consequences. (Correct Answer)

Question No.60 (Question Id - 94)
Given below are two statements :

Statement I:

Training in research methods sensitizes the social researchers to the choices/ range that are available
to them.

Statement II:
Training in research methods provide awareness of what constitutes good & poor research.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(A) O Both Statement | and Statement Il are correct. (Correct Answer)
(B) O Both Statement | and Statement Il are incorrect.

(C) O Statement | is correct, but Statement Il is incorrect.

(D) O Statement | is incorrect, but Statement Il is correct.

Question No.61 (Question Id - 56)

Match List-1 with List-11.

List-1 List-11

I. Gross Domestic Product

A. Assesses Inequality (GDP)

Il. Purchasing Power Parity

B. Measures total production within a country regardless of who owned the products (PPP)

C. Assesses health, education and wealth of population lI. Gini Index

D. A way to calculate gross domestic product that takes the cost of living and|lV. Human Development
buying power into account Index (HDI)

Choose the correct answer from the options given below :

(A) O A-Iv,B-1l,C-IlIl,D-1
(B)O A-Il,B-1,C-1V,D-Il (Correct Answer)
(C)O A-II,B-IIl,C-I,D-IV
(D)O A-1,B-IV,C-II,D-1l

Question No.62 (Question Id - 6)
Which of the following are the basic principles/political ideas of Karl Marx ?

A. Scientific Theory

B. Class Struggle

C. Change through Legislation
D. Multiparty System

Choose the correct answer from the options given below :

A) O A, B only (Correct Answer)
B) O B, Conly
C)O A,Donly
)

(
(
(
(D) O B, Donly

Question No.63 (Question Id - 97)

The United Nations Development Programme (UNDP), in its Human Development Report of 1994,
defined the scope of Human Security to include seven areas. Which among the following is not an




area mentioned in the scope of Human Security ?

(A) O Personal Security

(B) O Health Security

(C) O Family Security (Correct Answer)
(D) ©O Community Security

Question No.64 (Question Id - 23)

In the battle of Saraighat, 1671, the Mughal Empire was defeated by a weaker Ahom Kingdom. Who
led the Ahom army in this
battle ?

Chaolung Sukaphaa

Laluk Sola Borphukan

Lachit Borphukan (Correct Answer)
Gadadhar Singha

Question No.65 (Question Id - 8)
John Rawils described his theory of Justice as -
(A) O Distributive Justice

(B) O Pure Procedural Justice (Correct Answer)
(C) O Political, Social and Economic Justice
(D) O Substantive Justice

Question No.66 (Question Id - 50)

Match List-1 with List-11.

List-1 List-1l
A Kalibangan I. Punjab
B. Ropar Il. Haryana
C. Rakhigarhi IIl. Rajasthan
D. Dhaulavira IV. Gujarat

Choose the correct answer from the options given below :

A)O A-IV,B-Il,C-I,D-1l
B)O A-I,B-1,C-1IV,D-1l
C)O A-ILB-lI,C-1I,D-IV
)

(
(
(
(D)O A-IlI,B-I,C-IlI,D-IV (Correct Answer)

Question No.67 (Question Id - 86)
Given below are two statements :

Statement I:

Continuity and Preservation are the key concerns for Historical Institutionalism.
Statement II:

Norms and Culture are the key factors for Sociological Institutionalism.

In the light of the above statements, choose the correct answer from the options given below :

(A) O Both Statement | and Statement Il are true. (Correct Answer)
(B) O Both Statement | and Statement Il are false.

(C) O Statement | is correct, but Statement Il is false.

(D) O Statement | is incorrect, but Statement Il is true.

Question No.68 (Question Id - 78)
Given below are two statements :

Statement I:

Political Culture is not a theory.

Statement II:

Political Culture refers to a set of variables, which may be used in the construction of theories.

In the light of the above statements, choose the most appropriate answer from the options given
below :




(A) O Both Statement | and Statement Il are correct. (Correct Answer)
(B) O Both Statement | and Statement Il are incorrect.

(C) O Statement | is correct, but Statement Il is incorrect.

(D) O Statement | is incorrect, but Statement Il is correct.

Question No.69 (Question Id - 80)
Given below are two statements :

Statement I:

The ethnographic study includes in-depth interviewing and continual and ongoing participant
observation of a situation.

Statement Il:
The ethnographic research design emerged from the field of Anthropology.

In the light of the above statements, choose the correct answer from the options given below :

(A) O Both Statement | and Statement Il are true. (Correct Answer)
(B) O Both Statement | and Statement Il are false.

(C) O Statement | is correct, but Statement Il is false.

(D) O Statement | is incorrect, but Statement Il is true.

Question No.70 (Question Id - 100)
Which statement is not true about hypotheses ?
(A) O Hypotheses are predictions that the researchers holds about the relationship among
variables.
(B) O Hypotheses are generally used in formal research projects, such as dissertation or thesis.
(C) O Testing a hypothesis involves statistical procedures in which the investigator draws inferences
about the population from a study sample.

(D) O Hypotheses are interrogative statements or questions that the investigator seeks to
answer. (Correct Answer)

Question No.71 (Question Id - 46)
The purpose of research is to answer questions and acquire new knowledge. Researchers attempt to
reduce the complexity of problems, discover the relationship between seemingly unrelated events and
ultimately improve the way we live.
On the basis of the above, which of the following is not the purpose of research ?

(A) O Description

(B) O Entertainment (Correct Answer)
(C) O Explanation
(D) O

Prediction

Question No.72 (Question Id - 53)

Match List-1 with List-11.

List-1

List-11

A. The attitude that other's societies customs and ideas can be judged in the context of own

|. Ethnocentrism

culture
B. A description of a society’s customary behaviour and ideas Il. Ethnography
C. The study of how and why recent cultures differ and are similar I1I. Ethnology

D. Creation of a new culture

IV. Ethnogenesis

Choose the correct answer from the options given below :

A)O A-IV,B-Il,C-1,D-Ill

B)O A-1,B-Il,C-Iil,D -1V (Correct Answer)
C)O A-I,B-I,C-IV,D-1l

)

(
(
(
O)O A-1ILB-1,C-1I,D-1IV

Question No.73 (Question Id - 88)
Given below are two statements :

Statement I:

Mercantilism is a school of economic thought that emphasized the State’s role in managing
International trade and delivering prosperity.

Statement lI:




Autarky literally means self-rule. This is usually understood as economic self-sufficiency brought about
either by colonial expansion or by a withdrawal from International Trade.

In the light of the above statements, choose the correct answer from the options given below :

(A) O Both Statement | and Statement Il are true. (Correct Answer)
(B) O Both Statement | and Statement Il are false.

(C) O Statement | is correct, but Statement Il is false.

(D) O Statement | is incorrect, but Statement Il is true.

Question No.74 (Question Id - 95)
The Concept of ‘Performativity of Gender’ was given by :
(A) O Julia Kristeva

(B) O Luce Irigaray
(C) O Judith Butler (Correct Answer)
(D) O Simone de Beauvoir

Question No.75 (Question Id - 38)
Which of the following statements are correct ?

A. Rule of law is a system in which all individuals and groups, including those in government are
subject to the law, irrespective of their power or authority.

B. Judicial review is a mechanism by which government can review the action of court and overturn
those that violate the Constitution.

C. Concrete review is a type of judicial review that allows the Constitutional court to rule on the basis
of actual legal disputes brought before it.

D. Abstract review is a type of judicial review that allows the Constitutional court to rule on questions
that do not arise from actual legal disputes.

Choose the correct answer from the options given below :

(A) O A, C, D only (Correct Answer)
(B) O A, Bonly

(C) O B,C,Donly

(D) O A, Conly

Question No.76 (Question Id - 35)
Which are the correct statements about functioning of a Central Bank ?

A. Controls the amount of money in the economy.
B. Lowers interest rates to check inflation.

C. Raises interest rates to stimulate the economy.
D. Controls the cost of borrowing money.

Choose the correct answer from the options given below :

C) O A, D only (Correct Answer)

(A)
(B) O B, C,Donly
(C)
(D) O B, Conly

Question No.77 (Question Id - 63)

Match List-1 with List-11.

List-1 List-1I
A Hamas l. Pakistan
B. Hezbollah Il. Israel, West Bank, Gaza Strip
C. SIMI . India
D. Haqgani Network |IV. Lebanon

Choose the correct answer from the options given below :

A)O A-,B-I,C-lll,D-IV
B)O A-IV,B-IlIl,C-1I,D-1I
C)O A-Il,B-IV,C-Iil,D -1 (Correct Answer)
)
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O)O A-1ILB-1I,C-1,D-1IV




Question No.78 (Question Id - 4)
The broad characteristics of Prismatic society are -

A. Functionally diffuse
B. Attainment

C. Poly-functionalism
D. Ascriptive values
E. Universalism

Choose the correct answer from the options given below :

A) O A, Bonly
B) O B, C only (Correct Answer)
C)O A, Eonly

)

(
(
(
(D) O A, D, Eonly

Question No.79 (Question Id - 75)
Given below are two statements :

Statement I:

Civil Rights is an Individual right regarding freedoms that are created by the constitution and the
political regime.

Statement lI:

Civil Liberties are an Individual right regarding equality that is created by the constitution and the
political regime.

In the light of the above statements, choose the correct answer from the options given below :

(A) O Both Statement | and Statement Il are true.

(B) O Both Statement | and Statement Il are false. (Correct Answer)
(C) O Statement | is correct, but Statement Il is false.

(D) O Statement | is incorrect, but Statement Il is true.

Question No.80 (Question Id - 89)
Given below are two statements :

Statement I:

Anthropologists are interested in discovering when, where and why humans appeared on earth, how
and why they have changed since then.

Statement II:

There is a practical side to anthropology too. Applied and practicing anthropologists put
anthropological methods, information, and results to use.

In the light of the above statements, choose the correct answer from the options given below :

(A) O Both Statement | and Statement Il are true. (Correct Answer)
(B) O Both Statement | and Statement Il are false.

(C) O Statement | is correct, but Statement Il is false.

(D) O Statement | is incorrect, but Statement Il is true.

Question No.81 (Question Id - 68)
Choose the correct order of the following from the options given below :

A. Non-Cooperation Movement
B. Champaran Satyagraha

C. Jallianwala Bagh Massacre
D. Ahmadabad Mill Strike

E. Quit India Resolution

(A) O D,A,B,C,E
(B) O C,AD,B,E
(C) O B,D,C,A, E(Correct Answer)
(D)O B,C,A/D,E

Question No.82 (Question Id - 19)




Who among the following is not considered as a Communist dictator ?
(A) O Mao Zedong

(B) O Kim Jong-II
(C) O Pol Pot
(D) O Idi Amin (Correct Answer)

Question No.83 (Question Id - 81)
Given below are two statements :

Statement I:

Zia Barani wrote ‘Fatawa-i-Jahandari’. This book contains advices for the Muslim Kings.
Statement II:

Zia Barani Categorized laws into two kinds, the Shariat and the Zawabit.

In the light of the above statements, choose the correct answer from the options given below :

(A) O Both Statement | and Statement Il are true. (Correct Answer)
(B) O Both Statement | and Statement Il are false.

(C) O Statement | is correct, but Statement Il is false.

(D) O Statement | is incorrect, but Statement Il is true.

Question No.84 (Question Id - 41)
Given below are two statements :

Statement I:

One of the main achievements of the Indian political system is a bureaucratic apparatus that is both
professionally organized and political accountable.

Statement II:
In India the public recruitment of bureaucrats by merit is a rare exception.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(A) O Both Statement | and Statement Il are correct.

(B) O Both Statement | and Statement Il are incorrect.

(C) O Statement | is correct, but Statement Il is incorrect. (Correct Answer)
(D) O Statement | is incorrect, but Statement Il is correct.

Question No.85 (Question Id - 37)
The correct statements about ‘Tiananmen Massacre’ are :

A. On 4 June 1989, tanks rolled into Tiananmen Square in Beijing putting a violent end to weeks of
demonstrations.

B. The Chinese government admits killing about two hundred unarmed civilians.

C. Most independent estimates put the number of people killed at two or three times more than
official Chinese figures.

D. The Chinese communist party wanted to maintain absolute political control.

E. An UN General Assembly resolution was passed in November 1989, criticising Chinese
communist government.

Choose the correct answer from the options given below :

(A) O B,C,D, Eonly

(B) O A, B, C, D only (Correct Answer)
(C) O C,D, Eonly

(D) O A,B,C, Eonly

Question No.86 (Question Id - 14)
The philosophy of ‘Integral Humanism’ was propounded by -
(A) O Deendayal Upadhyaya (Correct Answer)

(B) O Shyama Prasad Mukherjee
(C) O Nanaji Deshmukh
(D) O Ashutosh Mukherjee

Question No.87 (Question Id - 96)
Which country was not a colony of British Empire ?




(A) O Australia

(B) O Kenya

(C) O Algeria (Correct Answer)
(D) O Uganda

Question No.88 (Question Id - 55)

Match List-1 with List-11.

List-1 List-11
A. Respondents are expected to choose one of the given options as answer l. Unstandardised Interview
B. Responses are left open to the respondent Il. Soft Interview
C. Interviewer guides the respondents without putting any pressure on them Ill. Standardised Interviews
D. Interviewer questions the validity and the completeness of the answers obtained [IV. Hard Interview

Choose the correct answer from the options given below :

A)O A-I,B-llIl,C-II,D-IV

B)O A-li,B-I,C-Il,D-IV (Correct Answer)
C)O A-llLB-I,C-IV,D-1l

)

(
(
(
D)O A-1ILB-1I,C-1V,D-I

Question No.89 (Question Id - 65)
Given below are two statements :

Statement I:

A major failure of stable democracies is its inability to regulate the potential conflict involved in
leadership succession.

Statement Il:
Authoritarian systems have robust and effective procedures for leadership succession.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(A) O Both Statement | and Statement Il are correct.

(B) O Both Statement | and Statement Il are incorrect. (Correct Answer)
(C) O Statement | is correct, but Statement Il is incorrect

(D) O Statement | is incorrect, but Statement Il is correct

Question No.90 (Question Id - 92)
Given below are two statements :

Statement I:
The first wave of Feminist movement focused on securing voting and basic equal rights for women.
Statement Il:

The third wave of Feminism addresses the perception that Feminism is either “over” or no longer
relevant to the younger generation.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(A) O Both Statement | and Statement Il are correct.

(B) O Both Statement | and Statement Il are incorrect.

(C) O Statement | is correct, but Statement Il is incorrect. (Correct Answer)
(D) O Statement | is incorrect, but Statement Il is correct.

Question No.91 (Question Id - 42)
Totalitarianism is an all-encompassing system of political rule established through pervasive
ideological manipulation and open brutality. Based on this definition of totalitarianism, which among the
following can be an example of totalitarianism ?

(A) O Malaysia during Mahathir era

(B) O France during Charles de Gaulle era

(C) O Soviet Union during Stalin era (Correct Answer)
(D) O Germany during Helmut Kohl era

Question No.92 (Question Id - 2)




The concept of the ‘Zone of Indifference’ is associated with —
(A) O Power

(B) O Decision making
(C) O Authority (Correct Answer)
(D) O Leadership

Question No.93 (Question Id - 13)
According to Dr. B.R. Ambedkar what was the key to all social progress of the Scheduled Castes ?
(A) O Economic Power

(B) O Social Equality
(C) O Political Power (Correct Answer)
(D) O Economic Equality

Question No.94 (Question Id - 10)

Investigatory Journalism sometimes leads to ‘trial by media’. Any limit to media trial must primarily
flow from -

(A) O The right to reputation

(B) O The right to privacy

(C) O The law of contempt of court

(D) O All of the above (Correct Answer)

Question No.95 (Question Id - 12)
Provision of reservation of seats in Panchayats are mentioned in the Constitution of India in -
(A) O Article 243 D (Correct Answer)

(B) O Article 243 B
(C) O Article 243 X
(D) O Article 243 H

Question No.96 (Question Id - 40)
Choose the correct order of the following from the options given below :

A. U.S. Constitution and Bill of Rights
Treaty of Westphalia
. Soviet Union disintegration

. Magna Carta

m O O @

Defeat of the Axis Powers

(A)O D,AB,CE
(B) O D, B, A, E, C (Correct Answer)
(C)O D,AE,B,C
(D)O E,A,D,C,B

Question No.97 (Question Id - 5)
The basic principles of Scientific Management are -

A. Development of true science

B. Scientific selection of the worker

C. Scalar Principle

D. Intimate and friendly cooperation between the management and the men
E. Subordination of individual interest to general interest

Choose the correct answer from the options given below :

(A) O B, C,Donly
(B) O A, B, D only (Correct Answer)
(C)O A,D,Eonly
(D) O A, C,Eonly

Question No.98 (Question Id - 28)

Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason
R.

Assertion A :
The issue of Human Rights is non-controversial in International Politics.

Reason R :




Because of differing legal traditions, domestic political regimes and institutions, and philosophies,
States often have different interests in human rights.

In the light of the above statements, choose the most appropriate answer from the options given
below :

A) O Both A and R are correct and R is the correct explanation of A.

B) O Both A and R are correct, but R is not the correct explanation of A.
C) O Ais correct, but R is not correct.

D) O A'is not correct, but R is correct. (Correct Answer)

(
(
(
(

Question No.99 (Question Id - 85)
Given below are two statements :

Statement I:

The World Bank was set up to oversee the global rules governing money in general and, in particular
to maintain currency stability through a system of fixed exchange rates.

Statement Il:

The World Trade Organization was established in 1995, replacing the General Agreement on Tariffs
and Trade (GATT).

In the light of the above statements, choose the correct answer from the options given below :

(A) O Both Statement | and Statement Il are true.

(B) O Both Statement | and Statement Il are false.

(C) O Statement | is correct, but Statement Il is false.

(D) O Statement | is incorrect, but Statement Il is true. (Correct Answer)

Question No.100 (Question Id - 26)

Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason
R.

Assertion A :

Covert observation is generally not used as a method in social science research.
Reason R:

Unlike in-depth interviewing, the covert observation method lacks informed consent.

In the light of the above statements, choose the correct answer from the options given below :

(A) O Both A and R are true and R is the correct explanation of A. (Correct Answer)
(B) O Both A and R are true, but R is not the correct explanation of A.

(C) O Aistrue, but Riis false.

(D) O A'is false, but R is true.
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